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1.You create a table named Products by running the following Transact-SQL statement:
CREATE TABLE Products |
ProductID int TDEHNTITY (1,1) HOT NULL PRIMARY KEY,
ProductMame nvarchar{l100} MNULL,
UnitPrice decimal (18, 2) HOT NULL,
UnitsInStock int HOT NULL,
UnitstnOrder int HULL
)
You have the following stored procedure:
CREATE PROCEDURE InsertProduct
@Productlame nvarchar (100),
BUnitPrice decimal(l8,2),
BUnitsInStock int,
EUnits0OnOrder int

A5

BEGIN
IRSERT INTO Products (ProductName, ProductPrice, ProductslnStock, ProductalnlOrder
VALUES (@ProductMams, @UnitPrice, @UnitsInStock, @UnitsOndrder)

EHND

You need to modify the stored procedure to meet the following new requirements:

- Insert product records as a single unit of work.

- Return error number 51000 when a product fails to insert into the database.

- If a product record insert operation fails, the product information must not be permanently written to the
database.

Solution: You run the following Transact-SQL statement:
AI.TER PROCEDURE InsertProduct
EProductHams nvarchar(100),
@UnitPrice decimal (18,2},
EUnitsInStock int,
EUnitsOnOrd=r int
AS
BEGIN
S5ET ¥ACT RABORT ON
BEGIN TRY
DEGIN TRAMSACTION
INSERT INTO Products (ProductName, ProductPrice, ProductsInStock, ProductsOnOrder)
VALUES (E8ProductMams, @0nitPrice, 8UnitsInStcck, @0nits0ndrder)
CIMMIT TRRNSACTION
END TRY
BEGIN CATCH
IF XACT STATE() <> 0 ROLLBACK TRANSACTION
THROW 51000, “The product could not be created.’, 1
END CRICH
ENL
Does the solution meet the goal?
A. Yes
B. No

Answer: B

2.You create a table named Products by running the following Transact-SQL statement:
CREATE TABLE Products |

ProductID int IDEWTITY (1,1) NOT NULL PRIMARY KEY,

ProductMame nvarchar{l100}) HULL,

UnitPrice decimal (18, 2) HOT HNULL,

UnitsInStock int HNOT NULL,

UnitsOnOrder int HNULL
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You have the following stored procedure:

CREATE PROCEDURE InsertProduct
@Productlame nvarchar (100),
BUnitPrice decimal(l8,2),
BUnitsInStock int,
EUnits0OnOrder int

BEGIN
IRSERT INTO Products (ProductName, ProductPrice, ProductslnStock, ProductalnlOrder
VALUES (@ProductMams, @UnitPrice, @UnitsInStock, @UnitsOndrder)
END
You need to modify the stored procedure to meet the following new requirements:
- Insert product records as a single unit of work.
- Return error number 51000 when a product fails to insert into the database.
- If a product record insert operation fails, the product information must not be permanently written to the
database.

Solution: You run the following Transact-SQL statement:
RLTER PROCEDURE InsertProduct

EProductHams nvarchar(100),

@UnitPrice decimal (18,2},

EUnitsInStock int,

EUnitsOnOrd=r int

RS
BEGIN
SET ¥AT ABORT CH
BEGIN TRY
DEGIN TRANSACTION
INSERT INTO Products (ProductName, ProductPrice, ProductsInStock, ProductsOnOrder)
VALUES (E8ProductMams, @0nitPrice, 8UnitsInStcck, @0nits0ndrder)
COMMIT TRRANSACTIOH
END TRY
BEGIN CATCH
IF XACT STATE() <> 0 ROLLBACK TRANSACTION
THROW 51000, “The product could not be created.’, 1
END CAICH
END
Does the solution meet the goal?
A. Yes
B. No
Answer: B

3.You create a table named Products by running the following Transact-SQL statement:
CREATE TABLE Products |

ProductID int IDENTITY (1,1) MOT NUDLL PRIMARY KEY

ProductMame nvarchar{l100}) HULL,

UnitPrice decimal (18, 2) HOT HNULL,

UnitsInStock int HNOT NULL,

UnitsOnOrder int HNULL
)

You have the following stored procedure:
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CREATE PROCEDURE InsertProduct
@Productlame nvarchar (100),
EUnitPrice decimal (18,2},
BUnitsInStock int,
EUnits0OnOrder int

A5

BEGIN
IRSERT INTO Products (ProductName, ProductPrice, ProductslnStock, ProductalnlOrder
VALUES (@ProductMams, @UnitPrice, @UnitsInStock, @UnitsOndrder)

EHND

You need to modify the stored procedure to meet the following new requirements:

- Insert product records as a single unit of work.

- Return error number 51000 when a product fails to insert into the database.

- If a product record insert operation fails, the product information must not be permanently written to the
database.

Solution: You run the following Transact-SQL statement:
AT.TER PROCEDURE InsertProduct
EProductHame nvarchar(100),
fUnitPrice decimal (18,2},
EUnitsInStock int,
BUnitsOnOrder int
RS
BEGIN
BEGIN TRY
BEGIN TRANSACTICH
INSERT INTO Products (ProductNHam=, FroductPrice, ProductsInitock, ProductafnOrder)}
VALUES (@ProductMNams, @UnitPrice, 8UnitaInStock, @0nitsOndrder)
COMMIT TRANSACTION
END TRY
BEGIN CATCH
IF @ETRIMCOUNT > 0 ROLLBACK TRANSACTION
IF @RERROR = 51000
THROW
END CRTCH
END
Does the solution meet the goal?
A. Yes
B. No

Answer: A

4.You create a table named Customer by running the following Transact-SQL statement:

CREATE TABLE Customer |
CustomerID int IDEWTITY (1,1} PRIHMARY KEY,
FirastHame varchar(S0) HNULL,
LastMame varchar (50} NOT NULL,
DateQfBirth date NOT NULL,
CreditLimit money CHECE (CreditLimit < 10000},
TownID int NULL BEFEREHCES dbo.Town |(TownID),
CreatedDace datetime DEFLAULT (Getdate ()}

!

You must insert the following data into the Customer table:
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Record i Last name Darte o C.re:.ht Town ID Created date
name Birth limit
Becord 1 | Yvonne McKay 1984-05-25 | 9,000 no tn:.rwn c:urre.nt date
details and time
Record 2 | Jossef Goldberg | 1995-06-03 | 5,500 | N° toWn CHIEAt AT
details and time

You need to ensure that both records are inserted or neither record is inserted.
Solution: You run the following Transact-SQL statement:

INSERT INTO Customer (FirstHame, LastBame, DateOfBirth, CreditLimit, CreatedDate)
VALUES (’Yvonne', ‘McKay', '1984-05-257, 9000, GEIDATE())

IHNSERT INTO Customer (FirstMame, LastHame, DateQfBirth, CreditlLimit, CreatedDate)
VYALUES (‘Jossef’, ‘Goldberg’, "1995-06-03°, 5500, GETDATE()})

=0

Does the solution meet the goal?
A. Yes

B. No

Answer: B

5.You create a table named Customer by running the following Transact-SQL statement:

CREATE TABLE Customer |
CustomerID int IDEWTITY (1,1} PRIHMARY KEY,
FirastHame varchar(S0) HNULL,
LastMame varchar (50} NOT NULL,
DateQfBirth date NOT NULL,
CreditLimit money CHECE (CreditLimit < 10000},
TownID int NULL BEFEREHCES dbo.Town |(TownID),
CreatedDace datetime DEFLAULT (Getdate ()}

!

You must insert the following data into the Customer table:

Record b Last name Darte of C.re:.ht Town ID Created date
name Birth limit
Record 1 | Yvonne McKay 1984-05-25 | 9,000 no tn:.rwn c:urre.nt date
details and time
Record 2 | Jossef Goldberg | 1995-06-03 | 5,500 RO ToWN CHIEAt AT
details and time

You need to ensure that both records are inserted or neither record is inserted.
Solution: You run the following Transact-SQL statement:

INSERT INTO Customer (FirstHame, LastBame, DateOfBirth, CreditLimit, CreatedDate)
VALUES (*¥vonne', ‘McKay', '1984-05-25', 9000, GEIDATE(})

IHNSERT INTO Customer (FirstMame, LastHame, DateQfBirth, CreditlLimit, CreatedDate)
VALUES (“Jossef’, ‘Goldberg’, "1%95-06-03', 5504, GETDATE()})

0

Does the solution meet the goal?

A. Yes

B. No

Answer: B
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